1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

[EEY

0.5

7000 GeV pp Jets

§ T I T I T I T I T | I I I T I T | T I T I T I T I§ m
— — <
- Dijet mass (anti-k (0.7), 21000<p <1500, |y|<2.5) 12
= =s
— QN
[ A
= e g X N =9
E . . = ~o—=_ E i
s ~ Bm EM% i
= ape =2
— = ‘\ﬁ@ qHx
~ L

- %g m CMS =
= —A— Pythia 6.428 370 =
— --8-- Pythia 6.428 391 =
_ Pythia 6.428 default —

= | [ | | | | | | | | | E

: I I'/ \‘I\ T T | T T T T | T T T I:

— oy \ -
— 12 -

— [7:! \'\ .
- olin

B \'\\A @ ]

2N !
C t\ 2 %/A -
‘\ Ef A ‘\' !
R R
0 100 200

(m_ 1+m_2)/2[GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


